
Assembly Instructions

heritage 48” pub table
330-893-4212 • www.wildridge.com

LCC-179

© 2022

Step 1
Turn table top (A) 
upside down on 
soft surface. Locate 
the four legs (B) and 
tap (2) 1/4”x2” bolts 
through the holes on 
each of the legs.

Hardware:
- (8) 2” Screws
- (8) 2 1/2” Screws
- (8) 1/4”x2” Bolts
- (8) 1/4” Flange Nuts
- (16) 1 1/4” Screws

Required Tools:
- Cordless Drill
- #2 Square Drivebit
- �7/16” Wrench or 

Socket

Parts:
A = (1) Table Top
B = (4) Legs
C = (8) Braces
D = (1) Shelf
E = (2) Stilts

D

A

B C

B

E

Step 2
Place one of the legs (B) into place, as 
shown, then slide the bolts through 
the holes in the frame, and add (2) 1/4” 
flange nuts and tighten. Repeat with 
remaining three legs.

A

B

Slide Bolts 
Through 

Holes

Step 3
Place one of the braces (C) up against a leg and the aluminum 
frame, as shown. Using (2) 1 1/4” screws, attach the brace to the 
aluminum frame thru both holes from the inside.

C



Assembly Instructions

heritage 48” pub table
330-893-4212 • www.wildridge.com

LCC-179

© 2022

D

Step 5
Stand the table upright, and place the 
(2) stilts (E) in place as pictured left.
Set the shelf (D) onto the two stilts to 
hold it up during installation, making 
sure the shelf is turned the same way 
as the table top above, so the boards 
run parallel with each other, then 
fasten the shelf to the legs through the 
holes provided with (8) 2 1/2” screws,  
2 per leg. Discard stilts. 

Boards should run 
parallel to each other.

Step 4
Then attach the same brace to the leg with (1) 2” screw, as shown.

Step 5
On the other side of the leg, attach another brace in the same 
manner as Step 3 & Step 4. Repeat with three remaining legs and 
six remaining braces.

Your table is now complete. 

Thank you for purchasing from Wildridge.

E


